




          X1     X2 

    1     102    102 

   2      98    105 

 

 stb…    stb…   stb… 

 

  10     100    103 
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d$X1 d$X2

d$X1 d$X2

d$X1 d$X2 d$X1 d$X2 
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X21 <- d$X2-d$X1 

     shapiro.test(X21) 



                         t.test(d$X1,d$X2, paired=T) 

                         atlagX1=mean(d$X1) 

                         atlagX2=mean(d$X2) 

                         atlagX21=atlagX2-atlagX1 
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         wilcox.test(d$X1, d$X2, paired=T)

                       medN1 <- sum(d$X2-d$X1 > 0) 

                       medN2 <- sum(d$X1-d$X2 > 0) 

                       binom.test(medN1, medN1+medN2, 0.5) 

                       wilcox.test(d$X1, d$X2, paired=T) 

                       wilcox.test(d$X2, d$X1, paired=T) 



                            X21 <- d$X2-d$X1 

                             quantile(X21)  

                             quantile(X21,c(.2,.4,.6,.8))  

 



mcnemar.test(d$X1,d$X2) 

table(d$X1) table(d$X2) 

coin mh_test()

library(coin)

                            library(coin)

                            mh_test(table(d$X1,d$X2)) 

table(d$X1) table(d$X2)
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